Elektrotechnika I. BSc 2011/2012 I. félév (BMEKOKAA107)

No. INEV NEPTUN-KOD 1.zh _ 2.zh _ l.pétzh 2.pétzh HF | HF |Labor [Labor AlV _ JEGY Gyak.
elm |gyak| jegy | elm | gyakl jegy | elm | gyakljegy elm | gyak | jegy | pont [ OK? | pont [ OK? [eim | gyak | jegy vez.

64 HBSYY9 45| 15| 1 [45] 10| 1 0,0 OK 6,0 130 4 4 |Szab6 Krisztian
16 BSTHEY 35| 70| 2 (45| 85| 2 0,0 OK | 21,0 | OK 3 |Szab6 Krisztian
129 RK6UOU 40| 65| 2 |45[ 95| 3 0,0 OK | 20,0 | OK 3 |Szab6 Krisztian
28 D5NETM 5055 2 |45]| 60| 2 0,0 OK | 20,0 | OK 3 |Szab6 Krisztian
126 R3BBCN 20 | OK 1 [Szabé Krisztian
60 HO6DE6 40| 65| 2 [30]| 75| 2 0,0 OK 2  |Szabé Krisztian
7 ANNPWV 50 (115 4 |50 70| 2 0,0 OK | 22,0 [ oK 4 |Szab6 Krisztian
12 BGG184 40| 65| 2 |35[50| 1 35| 75| 2 | 20 | ok 2 |Szabé Krisztian
73 120KVP 55 (110 4 |50(125| 4 -1,0 OK | 21,0 [ oK 4 |Szab6 Krisztian
148 V5KZR8 3535 1 |40|25]| 1 -1,0 | OK 6,0|115( 4 4 |Szab6 Krisztian
93 KMXAYZ 3570 2 |40 70| 2 0,0 OK | 17,0 | OK 2 [Szabé Krisztian
156 W6TPFQ 40| 40| 1 [40] 70| 2 (50| 85| 3 0,0 OK | 18,0 | OK 3 |Szabo Krisztian
165 XRXH6M 35|35 1 0,0 OK 30/ 35| 1 1 [Szabé Krisztian
13 BHHW95 451 25| 1 [35] 45| 1 20| OK | 190 | OK |6,0|120| 4 4 |Szab6 Krisztian
173 YQS5CO 40105 3 |50[105| 3 0,0 OK | 21,0 | OK 4 |Szab6 Krisztian
5 ADJMYD 50| 70| 2 (45110 3 20| OK | 22,0 | OK 3 |Szabé Krisztian
11 BDW6DF 55120 4 [55|115( 4 0,0 OK | 16,0 | OK 4 |Szab6 Krisztian
21 CFXSBO 45|85 | 2 |40| 70| 2 0,0 oK 2 |Szabé Krisztian
59 GZJGQC 50| 55| 2 (55|80 3 2,0 | OK | 180 | OK 3 |Szabo Krisztian
140 SJLULH 25|20 1 [o0]o00]| 1 0,0 OK | 20,0 | OK 1 [Szabé Krisztian
88 JM4BSE 40| 75| 2 |35 75| 2 0,0 oK 2 |Szabé Krisztian
131 RKFDZR NT |Szabé Krisztian
178 ZESR9Y 25135 1 [(35]25]| 1 30 | ok | 200 | oK |25]55]| 1 1 [Szabé Krisztian
29 D9VTHE 40| 75| 2 |60|105| 4 0,0 OK | 22,0 | OK 4 |Szab6 Krisztian
43 F3YMMJ 35(35| 1 |35|75] 2 |40]20] 1 30 | ok | 210 | oK |40]| 80| 2 3 |Szabo Krisztian
113 NSHN44 3550 1 0,0 OK | 210 | ok |30 75| 2 3 |Szabo Krisztian
150 VQGQCH 30[25| 1 |45|60]| 2 |60]90]| 3 1,0 | OK | 21,0 | OK 3 |Szabo Krisztian
90 KOWOWA 50| 75| 2 [30]95]| 2 20 | OK | 17,0 | OK 3 |Szabo Krisztian
106 MAJW50 40(05| 1 |35 70| 2 |40| 65| 2 0,0 OK | 20,0 | OK 3 |Szabo Krisztian
147 UQ8QR3 15(10( 1 |40f[20]| 1 2,0 | OK 40 90| 2 2 |Szabé Krisztian
143 TGF3LG 45| 65| 2 |50(135| 4 20 | ok | 220 | oK 4 |Szab6 Krisztian
78 IKTMZT 30[15| 1 |30| 75| 2 |55|50]| 2 0,0 OK | 20,0 | OK 3 |Szab6 Krisztian
74 I3BBN2 55|50 2 (35100 3 0,0 OK | 18,0 | OK 3 |Szab6 Krisztian
142 STOVAL 35(50| 1 |50[85]| 3 |60|85]| 3 20 | OK | 17,0 | OK 3 |Szab6 Krisztian
49 FDPI7A 25|60 1 (50|75 2 |60|65]| 2 0,0 OK | 19,0 | OK 3 |Szab6 Krisztian
24 CVEUOR 45160 | 2 |40[80]| 2 0,0 OK | 20,0 | OK 3 |Szab6 Krisztian
176 ZATGQZ 40| 45| 1 [10] 20| 1 0,0 OK | 170 | ok |50 65| 2 3 |Szab6 Krisztian
160 X14AWD 35(30| 1 |45[80]| 2 |50]55]| 2 20 | OK | 19,0 | OK 3 |Szab6 Krisztian
38 EGI775 50| 65| 2 (55|50 2 0,0 OK | 20,0 | OK 3 |Szab6 Krisztian
52 FPMBO04 45(05| 1 |50[80]| 2 |50]60]| 2 0,0 OK | 21,0 | OK 3 |Szab6 Krisztian




